What do you know?
Colorado Kids: December 10, 2019

1. Why does the article on “The Nutcracker” show three people playing the role of Clara?
t. They play her at different ages.

a. They play her on different nights.

s. They all play her because the role is so complicated.

x. all of the above

2. With which of these statements about “Bouncing Back” would Rohan Kotwal NOT agree?
k. This is a complicated story with a lot of serious parts.

z. This is a very funny book that is appropriate for all ages.

t.This is a book that makes you pay attention so you can follow the action.

b. all of the above

3. What part of “King of the Mole People” did Aidan Muldoon not enjoy?

b. The early part, where we see how bullied Doug Underbelly is.

J. The middle part, where Doug tries to figure out why the mole people think he should be their king.
r. The ending, where Doug finds out the moral of the story.

y. all of the above

4. What was the negative part Avery MacKenzie found in “Pages & Co.:The Bookwanderers”?
a. The story wasn’t very interesting.

1. The characters didn’t grow or change.

e. The story wasn’t believable.

o. all of the above

5. What makes the “Permafrost Puppy” different?

a. Most animals that old are fossils rather than frozen examples.
c. Most old dogs or wolves have modern Russian names.

g. Most ancient dogs are found with ancient tennis balls.

e. all of the above

6. Why are researchers concerned about the results of testing of teens and young people?
t. They fear many young people will develop Type-2 diabetes.

e. They fear many young people will develop kidney disease.

n. They fear many young people will develop heart disease.

m. all of the above

Fill in the letters to the correct answers above to solve this puzzler:

This African nation was once known by the
European name of “Northern Rhodesia,” which
had little to do with its actual identity.

What do you think?

There are many holiday stories that people love. What’s your favorite? Write a brief essay explaining why
you enjoy that particular story.



Proofreading:
There are five errors in this passage. Can you find them all? Correct each mistake in the space above it.

The young people who were tested had not come to the doctors office’s for any particuler
reason, and so it can be assumed thy were avirage.

Summarize the story:
Use three sentences to tell about the Permafrost Puppy.

.

Look it up!
For each of these famous ballets, tell the composer of the music and the first year it was performed. We’ve
done the first one for you.

The Nutcracker Pyotr Tchaikovsky 1892

Giselle

Coppelia

La Bayadére

Swan Lake

La Sylphide




